SALE AR LV AN SN e ¥ )

111 #6% 10 p s € il E
111 # 6 7 30 p fa#d § RiLE

P EH i 2 1 3 ¥ I
o }eFE € 3% (10:00) ~ i P Sz 51 (13:30)
30 | = |+ 6/30 17:00~7/6 12:00 = E&Lpﬂ*ﬁfvrﬁ*ﬁl”ﬁﬂ’";i?u*f‘#ﬁ‘é%ﬁﬁ
FHE
4 — oﬂ—;;f:igﬂf{‘i%’rﬁ?o
5 S| ARREFEIFHAEE L (6:00m)
¢ 12:00 AR HF 2 S5 H £39 o
6 = e 12:00 " R = 2 = R AFREE o
¢ 14:00~17:00 W= 2 B FRERF L LF > F 2 85 o
« B
7 e e AL r25EE16:00w)
« I 2 = = _‘E%"#‘T
8 | I |+FiYK
T A AR
s TN(-)=22 /5 L 8
12 | = |o x B4 Fpl% (a‘ig:@)
13| = |23 =40FLe) 2§ = FOAT)E RS
18 | — |« 7/18-T/19 3 M*® 4% -
¢ 11:00 =& 3 - AT2 &P L H o
19 | = [« 7/19-7/21 &4 ¢ 33220
o EFEEFE A Y S HR 700 %)
a0 | = |°17:00 R E Y Ay A
|t R RERPRF -
e ®- = —‘:{-’f'd"}F"’Fflr'ﬁk 4
91 s | 9:00~11:00 B - #72 4R 3] ~ EF T RITEP € ~ FHMEFIFIEP € o
-%%?%ww&ﬁ |
s 22 R - A7 HIT(F 5O A7 00 )
22 | I | B-CEABEAIREEF2:00)
23 | & | BT HE2EYVEATE B 2359 -
c BFZWZ B ERL -
25 - e B ERBEA
c B ‘é’u:‘%%%‘fﬁiﬁ(lél'oo’é"?%
cFoAPRFRSE R EFE S FUE - oF 2L LW L) AR
27 | = EESF AR ERME R
= e ARk T/27~8/2(12:00 F )BR Fish o
o 2 % = CPR+AED 2 & #¢ & b9 R 35%42.(13:00~17:00) ©
28 | » | BREFSKRIIBLERL o




7129 | 7 |o ApmskAFEREAD ¢ (18:30 s ) -
T130 | = | »#Rl% 7/30~8/02(16:30 1+ )% so 4 % L AF °
7] 31 Po|e B¢ EFEY FARITEINE 23:59 A4k -
g 1 | - | ®=F- AFREORY
c 1l B2 R %-FHFY EXFHIN(FFE) -
8| 2 | = |+ B3=2%-gpHrmY -
8| 3 = | BRI RFIINGE -
8| 4 U
8| 8 | - e ® pAMERFCFGEE) GRE L 14: 00 FR4L)-
81 9 S| R P APERFIFOE) (KA 14 00FR4)-
sliwol = I’ FEoF BT F R FIAP o 4
T | B PARPERFAFCEY) (KF e 1400 FRL) -
ol 11| = |° EF TR P SR IR BT i fm’% BVbAT o
-rst‘s’*vfi FAFOG ) (RF 2 1400 R4 -
lizl z | N AE S R BB H o
T RS EEAE (KR 1400 R
8| 17T | = |» ¥ Fae1 iv ] 2 k(T = 13:30-15:30)
8| 18 | = |« IEP 3% 13:30-15:30 (R 2%~ F ¢ 0374 )o
sl 19| 7 |° B Rz ESREL -
© |« IEP 3 13:30-15:30 (-2 F =)o
8|22 | - |+ 2REFFAYY1/2) (L ER ~ F55)o
slog | - |° 2RFEFAEY F(2/2) (ﬂr%ffr W) -
- o« 374 *ggggﬂ—,fiié\ (R F e
glog | = |+ ®- ~E-F2 E O %i_ 7:30 34 o
T B ATA BRGAMGARRE € - A H(18:30-20: 300 RakiE ALY )
8|25 | m e B- ~R- B ATA = T30 Pl
8| 26| 7 |o BzfrERRyH
8127 | = |» 3-#72 k¥ a(r = 8:00~12:00)
« Etep (7:40) ~%%%%%(%%ﬁfﬁﬁgﬁtbiwwm\ﬁiﬁﬁlﬁ
8129 | - 2R &(¢ =12:10) ~ &arg3kR(T = 13:30)
R g4 *ﬁ?ﬁg(@“% ¢ = 10-12 8 RO AT - A d $t)
s BELA(Y = T:140) #3zap ¥ o
8130 | = e - #mr(r=8:20) B #72 RE AN = 10:00-11:00)
e I FT FF(AHe)

1 P8R 5

© 7613875 # 510~514(FF%fe) » #& 520~524(F 73k » # 560~564(H ¥ 3 ) -
2. BB 1S kY R/ pE
9/6 (=)~9/7 (=) W= % - HHY ~ 8= %= THIRY ~ 8 - FRIERSY




